gl

AR

DU DY 2P TR MY W AN

MY AN YWHON TIN OPOD

/ JIRT DNIR PRI ANYR - “INTRN? AR TR 12°0m”
WDl MYINR1 DWYIT DPRWAT DP0YT L]0 ,Iapni
0PN OwY P71 0wy NP

(T2"%1 12 “D 121N *T" RN 190")

272 VIRTIN P2

(v ,112) DPHI 1T WY ION

IR IRT QPR 5w 012 03 XVIANT WIPR I 0w M)
NI P39 ,0pnn TPYRLY N Ow PRIV 110,70 10
992 025y 1KY P°Pan2 Sva X1 apn

PITI2 AR AW 2 0w Y27 D¥X %R T2 RIPD
P18% @°5ym1 DA PR RY DPRAY 11T ,wnn PRI2 0P
NPT XA LOPR2 QPRI APYRPY 13 198X PRI %3 50
D5yn QPRI PRI PN 2T DR wRn Py IR X027
JARTIT ODIR” IN7237 SRMW 237 N0 M 1100

(121D ‘10N TUNNY)

VT TN P73

/OO0 227 By 7 1900 771D YA g7°ona 19N
9P 7 SYRART 7MIR Dw q0xnT 9932 .mo%na A7m Iy
0°7°01 Pw 0°1°3n 7wnn 10127 Y121 0RYOw 1PN 8 Ny
MOPIT Sw MPTWID NITI T DKM 2200 MTon e’
M = NITON NPRR = T 7270 MR KXW DT ,5R0IINN
TIX OIXW QWD ,CYINNT VMIR Dw) MR I InKIET
X7 MITPON NPAR = OYRANT 7INTIX - 2277 PRX 9 ,210RD

R RIaly
(51D R"WUN'N TMON 190"

NPRYTY MR PR MmN po

NPRw3 120X MWAT NI 2312 723 QRN INYY L1207
NIMRT 3% 1211 7793”7 oM, M3 1997111 177201 723 82w
X UPTX PER DY MR - PPy 5910 ,073mT 0y
nMIYT MR 9% = O3 T ,IOwm DPBRT 72K
5w MMEYT Mpwpa 79ann XA B3 DY NN NNy Yw
STV 93 5w Mpewna 723 X = 0T DY 1IpTR mwn
RN RO ,"DATD TI'D MR NG "TH"0 - 1000 T 12T

1121832 120 120 2210 RT
(151 "D 20T ‘TMT0N 190°)

.

I IS P )

(23,19 7% WWYR WY *% 10N WK 5N
Y iyR PRY 1Y 0K DY Y YT 030 00 RI 1Ay
2173 127y 931,191 MPAvY PYnw R3 0Nt MPhn , menn
TR 1Y W3 NPAY PR 1Y DD oTp IR a7
M2y 1 NAWRwIT W RNNDT XNMYDXRY ,RNNDT RNYNX
= 510N WX 5217 23000 1 IWYR’ NP2 XPI TWRTT
TV YR WY” TR PR TY Y by P 10T, Thys
PR 7720 X 1131 0Y XTI 10 PR NKRD 7707 yow
A0 PR TV DYDY P 99 10
(T2 1IMw8 R 1M

WERNT IMRTIN P2

XY LR X ,MWD O DY 707 XD OYIBRT MR
YRANT T7MIR LMITON 1AV 12T WAl 00700 1w
- PARY 120 ORRY SY [PIP IR NP0 DR INDY MmN
2mn 0°3917 Op*IRW 190 7199 1Y 71T DY KT 712 719
IR LIV 1TV 1A DINANA 7TV 1R YR TR NYOYR 9on OX

079 WP 1°AYa 7337 727 5y anR TRy
(52 D R"WN'N ‘TMWN 190)

P83 ARET IRIN P2

(v ,113) “NYT> XD 923X I DIPRI WY R
Synn oawa ,0pn 922 X¥NI 77PN 2Py’ YT XD OXA
2N PR O
ow NIRan X7 NN 931 TRAY OPOXT NI XOK
DPRaw ~ "I QPR N v 1R"Y NYTY 1913 3pYN 00PN
DOPOR Qwn 5Yn5w 01 0w M3 PRR UIpn
(QuinkhgiSannk )

P9 IRIN 22

19931 @R B3 mpw DoKX AR3AT B HY nPTA 1aRm

(3 ,03) MPRY J2RM DX 1DWT 1IN DX
T30 ,12K7 DwRIw Y77 7807 = “INAN "9 2D 12172 1R
IR D XY 109 MWW ‘00 001 W2 MDA DR ¥
AR’ MR WHY DR IOX? = “0MTUN 2D N0 190R1”
nwhw > Sy - “IRAN "9 20N 1IRN MR 1223771 /001 IR
JITOTROT - 1R 1PRY T XD 92 Svann 1R M

NOUN'N (700 X M'W# N'3 I 10




